BT DEENRARBHEDHR

1 EMAIBHE

EH3

2013%EFE [ 2014%EFE | 20154EFE | 20164RFE | 20174EFE | 20184EEE

o Py bz 2aeh s Bt = Ez/Aueh s Pete | HEHE Pt =
(kt—C02) (kt—C02) (kt-C02) | (kt-CO:2) | (kt—CO:) | (kt-CO2)
PEZETRIY 6, 907 7,014 6, 765 6, 736 6, 426 6,314
Bl SEES 57 49 46 60 52 59
it 6, 850 6, 965 6,719 6,676 6,374 6, 255
A | FEE 808 965 893 898 789 652
e 1,138 993 1,001 1,071 915 791
SRS Y 1, 040 1,051 1,043 1,016 1,015 1,039
SEIE 916 925 921 896 897 926
(7SRRI E 124 126 122 120 118 113
B VI e =/ 269 269 311 325 277 262
T¥7 0w M 115 113 106 107 106 109
BETEER Y 544 524 555 616 607 585
€0, LISk 367 408 419 397 397 386
& & 11, 188 11, 337 11, 093 11, 166 10, 532 10, 138
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